
•	 READ AND UNDERSTAND ALL OF THE MANUFACTURER’S WARNINGS AND INSTRUCTIONS BEFORE USE.  CONTACT SUMMIT TREESTANDS 
FOR ANY QUESTIONS.  FAILURE TO DO SO COULD RESULT IN INJURY OR DEATH!

•	 KEEP HANDS AWAY FROM SCISSORING TUBING WHEN OPENING OR CLOSING THE SHOOTING BENCH.

•	 NEVER USE YOUR SHOOTING BENCH ON UNEVEN OR SLOPING TERRAIN.

•	 NEVER SIT ON THE TOP OF THE SHOOTING BENCH.

•	 ALWAYS PRACTICE SAFE FIREARM HANDLING.

FORM# Shooter - 12/2013

Summit Shooter

© 2013 Summit Treestands, LLC
715A Summit Dr. Decatur, AL 35601
(256) 353-0634
info@summitstands.com
www.summitstands.com

GENERAL WARNINGS AND PRECAUTIONS						      PG 1
SECTION 1 - INDEX									         PG 1
SECTION 2 - PARTS LIST									        PG 1
SECTION 3 - ASSEMBLY									         PG 2 - 4
SECTION 4 - SETUP AND USE								        PG 4
SECTION 5 - LIMITED WARRANTY							       PG 4

   INDEX1	

BOX CONTENTS

DESCRIPTION 	 QTY
EXPANDED METAL BENCH WITH PAD	 1
FRONT LEG ASSEMBLY	 1
FRONT LEG FOOT ASSEMBLY	 1
REAR LEG ASSEMBLY	 1
REAR LEG FOOT ASSEMBLY	 1
LONG THREADED ROD	 1
SEAT SUPPORT BAR	 1
SEAT WITH PAD	 1
HARDWARE BAG	 1

   PARTS LIST2	

PN 85239

HARDWARE BAG

DESCRIPTION 	 QTY
SHORT THREADED ROD	 1
5/16” WING NUTS	 4
5/16” WASHERS	 4
1/4” BOLTS	 4
1/4” WASHERS	 4
SHOOTING REST UPPER	 1
SHOOTING REST LOWER	 1



1.  Position the bench top as shown in figure 1.  Lay the rear leg 
assembly between the welded tabs.
2.  Insert the long threaded rod through the holes in the tabs and 
through the rear leg assembly tube as shown in figure 2.
3.  Secure the rod using wing nuts and washers as shown in figure 3.
4.  Position the front leg assembly next.  Lift up slightly on the rear leg 
assembly and line up the middle hole.  Insert the short threaded rod and secure with wing nuts and washers as shown in figure 
4. 

PG 2 www.summitstands.com

   ASSEMBLY3	
! CAUTION

Use care when assembling the scissoring leg 
assemblies.  Keep fingers and hands away from pinch 
points.

5.  Slide the rear leg foot assembly into the tubing as shown in figure 5.
6.  Secure using two 1/4” bolts and washers as shown in figure 6.

1

3 4

5 6

2



ASSEMBLY (continued)
7.  Slide the front leg foot assembly into the tubing as shown in figure 7.
8.  Secure using two 1/4” bolts and washers as shown in figure 8.
9.  Carefully pivot the leg assembly up.  Rest the bracket on the front leg 
assembly behind the bench top as shown.  (See figure 9.)
10.  Insert the lock pin to secure the legs as shown in figure 10.

11.  Position the seat support bar as shown in figure 11.  Secure using the large lock pin as shown.  The seat support tube can be 
adjusted by using different mounting holes.
12.  Slide the seat down into the seat support bar and insert the pin.  See figure 12.  The seat will fold out of the way when the 
bench is folded down.

PG 3

! CAUTION
Lock Pin must be inserted while using the shooting 
bench.  

7 8

9

11 12

10



PG 4 www.summitstands.com

   SETUP AND USE4	

(A) Warranty
Summit Treestands, LLC (Summit) warrants to the original retail purchaser that all products manufactured by it are free from defects in 
material and manufacture at the time of shipment for twelve (12) months from the date of purchase.  Summit will replace any part found 
defective if the unit claimed to be defective shall be returned to Summit, postage prepaid, within the warranty period.

This warranty shall not apply to any product which has been subjected to misuse; misapplication; neglect (including but not limited to 
improper maintenance); accident; improper installation; modification (including but not limited to use of unauthorized parts or attachments); 
adjustment or repair.  THE FOREGOING IS IN LIEU OF ALL OTHER WARRANTIES, WHETHER EXPRESS OR IMPLIED (INCLUDING THOSE OF 
MERCHANTABILITY AND FITNESS OF ANY PRODUCT FOR A PARTICULAR PURPOSE), AND OF ANY OTHER OBLIGATION OF LIABILITY ON THE 
PART OF THE COMPANY.

(B) Limitation of Liability
It is expressly understood that Summit’s liability for its products, whether due to breach of warranty, negligence, strict liability, or otherwise, 
is limited to the repair of the product, as stated above, and Summit will not be liable for any other injury, loss, damage, or expense, whether 
direct or consequential, including but not limited to loss of use, income, profit, or damage to material, arising in connection with the sale, 
installation, use of, inability to use, or the repair or replacement of Summit’s products.

Summit reserves the right to make alterations or modifications in its products at any time, which in its opinion, may improve the 
performance and efficiency of the product.  It shall not be obligated to make such alterations or modifications to products already in service.

Please take the time to fill out the warranty card online at http://www.summitstands.com/warranty or fill out and mail in the 
enclosed warranty card.  

   LIMITED WARRANTY5	

1.  Remove lock pin from figure 10 to collapse legs.  Use caution when folding the legs down - keep hands and fingers away 
from pinch points.

ASSEMBLY (continued)
13.  Screw the shooting rest into the threaded hole on the end of the bench.  Use the wing nuts to tighten the rest once you 
have it at your desired height.  (see figure 13)

13



PG 5

•	 LISEZ ET COMPRENNEZ TOUS LES AVERTISSEMENTS ET TOUTES LES INSTRUCTIONS DU MANUFACTURIER AVANT L’UTILISATION. 
CONTACTEZ SUMMIT TREESTANDS POUR TOUTES QUESTIONS, SINON VOUS POURRIEZ VOUS EXPOSER À DES BLESSURES OU LA MORT!

•	 GARDEZ VOS MAINS LOIN DES TUBES COUPANTS LORS DE L’OUVERTURE OU DE LA FERMETURE DU BANC DE TIR.

•	 N’UTILISEZ JAMAIS VOTRE BANC DE TIR SUR UN TERRAIN INÉGAL OU EN PENTE.

•	 NE VOUS ASSOYEZ JAMAIS SUR LE DESSUS DU BANC DE TIR.

•	 MANIPULEZ TOUJOURS VOTRE ARME À FEU DE FAÇON SÉCURITAIRE.

Banc de tir Summit

© 2013 Summit Treestands, LLC
715A Summit Dr. Decatur, AL 35601
(256) 353-0634
info@summitstands.com
www.summitstands.com

AVERTISSEMENTS GÉNÉRAUX ET PRÉCAUTIONS						      PAGE 5
SECTION 1 - INDEX									         P 5
SECTION 2 - LISTE DES PIÈCES								        P 5
SECTION 3 - ASSEMBLAGE								        P 6 - 8
SECTION 4 - INSTALLATION ET D’UTILISATION						      P 8
SECTION 5 - GARANTIE LIMITÉE	 							       P 8

   INDEX1	

CONTENU DE LA BÔITE

DESCRIPTION 	 QUANTITÉ
BANC EXTENSIBLE EN MÉTAL AVEC COUSSIN	 1
STRUCTURE POUR LES PATTES AVANT	 1
STRUCTURE POUR LES PATTES ET PIEDS AVANT	 1
STRUCTURE POUR LES PATTES ARRIÈRE	 1
STRUCTURE POUR LES PATTES ET PIEDS ARRIÈRE	 1
LONGUE BARRE FILETÉE	 1
BARRE DE SOUTIEN POUR LE SIÈGE	 1
SIÈGE REMBOURRÉ	 1
SAC POUR LA QUINCAILLERIE	 1

   PARTS LIST2	

PN 85239

SAC POUR LA QUINCAILLERIE

DESCRIPTION 	 QUANTITÉ
COURTE BARRE FILETÉE	 1
ÉCROUS À OREILLES 5/16 PO. 	 4
RONDELLES 5/16 PO.	 4
BOULONS 1/4 PO. 	 4
RONDELLES 1/4 PO. 	 4
APPUI-TIR SUPÉRIEUR	 1
APPUI-TIR INFÉRIEUR	 1



PG 6 www.summitstands.com

1.  Placez le dessus du banc tel qu’illustré à la figure 1.  Disposez la 
structure de la patte arrière entre les attaches soudées.
2.  Insérez la longue barre filetée au travers des trous des attaches et au 
travers la structure de la patte arrière tel qu’illustré à la figure 2.
3.  Fixez la barre en utilisant des écrous à oreilles et des rondelles tel 
qu’illustré à la figure 3.
4.  Placez ensuite la structure de la patte avant. Élever légèrement la structure de la patte arrière et alignez-la avec le trou du 
centre. Insérez la courte barre filetée et fixez-la avec des écrous à oreilles et des rondelles tel qu’illustré à la figure 4. 

   ASSEMBLAGE3	
! CAUTION

Soyez prudent lors de l’assemblage des pattes en 
ciseaux. Gardez vos doigts et vos mains loin des 
endroits où vous pourriez les pincer.

5.  Glissez la structure de la patte et du pied arrière dans les tubes tel qu’illustré à la figure 5.
6.  Fixez en utilisant deux boulons 1/4 po. et des rondelles tel qu’illustré à la figure 6.

1

3 4

5 6

2



PG 7

ASSEMBLAGE (suite)
7.  Glissez la structure de la patte et du pied avant dans les tubes tel 
qu’illustré à la figure 7.
8.  Fixez en utilisant deux boulons 1/4 po. et des rondelles tel qu’illustré à 
figure 8.
9.  Faites pivoter prudemment la structure de l’appui-patte vers le haut. Appuyez les supports sur la structure de la patte avant 
derrière le banc tel que qu’illustré. (voir la figure 9.)
10.  Insérez la cheville de vérouillage pour fixer les pattes tel qu’illustré à la figure 10.

11.  Placez la barre de soutien pour le siège tel qu’illustré à la figure 11. Fixez en utilisant la grosse cheville de vérouillage tel que 
démontré. Le tube pour le soutien du siège peut être ajusté en utilisant différents trous d’assemblage.  
12.  Glissez le siège vers le bas dans la barre de soutien et insérez la cheville de vérouillage. Voir la figure 12. Le siège se pliera à 
l’écart lorsque le banc sera plié.

! CAUTION
La cheville de verrouillage doit être insérée lorsque le 
banc de tir est utilisé.

7 8

9

11 12

10



   INSTALLATION ET D’UTILISATION	4	
1.  Enlevez la cheville de verrouillage de la figure 10 pour affaisser les pattes. Soyez prudent lorsque vous pliez les pattes  
-protégez vos mains et vos doigts des endroits où vous pourriez les pincer.

ASSEMBLAGE (suite)
13.  Vissez l’appui-tir dans le trou fileté au bout du banc. Utilisez les écrous à oreilles pour fixer le reste lorsque le tout sera à la 
hauteur désirée. (voir la figure 13)

13

   GARANTIE LIMITÉE5	
(A) Garantie
La compagnie Summit Treestands, LLC (Summit) garantie à l’acheteur original que tous ses produits manufacturés sont sans défauts du matériel et de 
fabrication lors de l’expédition et ce pour douze (12) mois à partir de la date d’achat. Summit remplacera toute pièce défectueuse si le module soi-disant 
défectueux est retourné à Summit port payé, à l’intérieur de la période de garantie.

Cette garantie ne s’applique pas à tout produit qui aurait subit un usage impropre ou abusif, négligé (notamment un mauvais entretien); accident; 
mauvaise installation, modification (notamment l’utilisation de pièces non-autorisées ou pièces ajoutées); ajustement ou réparation. LA GARANTIE 
MENTIONNÉE PRÉCÉDEMMENT REMPLACE TOUTE AUTRE GARANTIE, MENTIONNÉE EXPRESSÉMENT OU IMPLICITEMENT (INCLUANT LES GARANTIES DE 
COMMERCIALISATION ET D’ADAPTATION DE TOUT PRODUIT À UN OBJECTIF PARTICULIER), ET TOUTE AUTRE OBLIGATION DE RESPONSABILITÉ DE LA PART 
DE LA COMPAGNIE.

(B) Limitation de responsabilité
Il est expressément entendu que la responsabilité de Summit pour ses produits, que ce soit dû à une violation de la garantie, de la négligence, de la 
responsabilité sans faute ou autrement, est limitée à la réparation du produit, tel que mentionné ci-haut, et Summit ne sera pas responsable pour toute 
blessure, perte, dommage ou frais encourus, que ce soit une cause directe ou indirecte, notamment de la perte d’usage, de salaire ou dommage matériel 
résultant de la vente, de l’installation, de l’utilisation ou l’incapacité d’utiliser le produit, ou la réparation ou le remplacement des produits de Summit.

Summit se réserve le droit de faire des modifications ou transformations à ses produits en tout temps, qui, selon son opinion, pourrait améliorer la 

performance et l’efficacité du produit. Summit n’est pas obligé de faire ces modifications ou transformations aux produits déjà en service.


